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A knot diagranﬂ C2 c3 c1 Co Cs c8 C10

Ideals for irreducible component#ﬂ)f Xpar
I = (—29u° + 62u* — 233u® — 17u® + 73b — 178u — 27, —15u° + 22u* — 118u® — 39u® + 73a — 228u — 19,

u® — 2u® + 8ut + P 4 Tu? —u —1)
= +b+u, vd+u?+a—u, u +u®—1)

* 2 irreducible components of dim¢ = 0, with total 10 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I I} = (—29u® + 62u* 4+ - - - + 73b — 27, —15u’ +22u* +--- 4+ 73a — 19, u® —
2u® + 8ut + ud + Tu? —u —1)

(i) Arc colorings

o ()

0
ag = u
1
a3 = u2
0.205479u° — 0.301370u* + - - - + 3.12329u + 0.260274
a7 = \0.397260u® — 0.849315u* + - - - + 2.43836u + 0.369863
0.260274u® — 0.315068u* + - - - + 2.35616u + 1.86301
a4 = \0.260274u® — 0.315068u* + - - - + 2.35616w + 0.863014
—0.205479u® + 0.301370u* + - - - — 3.12329u — 0.260274
a1 = \ —0.452055u® + 0.863014u* + - - - — 2.67123u — 0.972603
-1
ag = (0.260274u5 +0.315068u* + - - - — 2.35616u — 0.863014)
-1
as = <—0.260274u5 +0.315068u* + - - - — 2.35616u — 0.863014>
u
ag = \0.205479u° — 0.301370u* + - - - + 2.12329u + 0.260274
—0.657534u® + 1.16438u* + - - - — 5.79452u — 1.23288
a10 = \ —0.452055u® + 0.863014u* + - - - — 2.67123u — 0.972603
(ii) Obstruction class = —1
(iii) Cusp Shapes = %5“5 — %u‘l + %u‘g + %uz + %u — %



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1, Ce u® — 6u® + 16u* — 21u® + 11?2 +2u — 4
C2,C5, Cs wW—2w + 8t +Tu —u—1
c3,C7,Co w4+ u? +9ut — 11w — 4w —2u—1
C4 u® — 3u® — 3ut + 15u® — 10u? + 1
c10 u® + 4u® + 26u” + 73u® + T7u? + 92u + 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1, e Y% — 4P + 26y* — 73y° + TTy? — 92y + 16
¢, C5, Cg Y% + 12¢° + 82y* + 105y + 35¢% — 15y + 1
€3, C7, Co Y%+ 17y5 4+ 95y — 19193 — 469 + 4y + 1
Ca Y% — 15y° 4+ 79y* — 163y> + 941> — 20y + 1
6 5 4 3 2
c10 % + 3615 4 24691 — 20293 — 6671y* — 6000y + 256




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape
u = —0.244201 + 0.97188871
a = —0.24405 + 1.395097 2.08576 + 2.678001 | —9.11994 — 5.421351

b= 0.878332 — 0.6955141

u = —0.244201 — 0.9718881
a = —0.24405 — 1.395091

2.08576 — 2.678001

—9.11994 + 5.421351

b= 0.878332 + 0.6955141

= 0.403945

= 1.70981 —7.78420 —6.88360
b= 1.58486

= —0.304480
a = —0.689933 —0.637429 —15.6380
b= —0.449415

= 1.19447 4 2.582591

0.234107 — 0.6064741 13.6396 — 5.63881 | —8.61921 + 2.010041

b= 1.55395 + 1.435041

= 1.19447 — 2.582591

= 0.234107 4+ 0.6064741 13.6396 + 5.63881 | —8.61921 — 2.010041
b= 1.55395 — 1.435041




IL. 1 = (w?+b+u, ud+u*+a—u, ut +ud -1
2

(i) Arc colorings

o ()
. )
o=
oo
- (52
. (uu3+uu2—u1)
o
o=
=

(

—u—1
—ud —u? -1

(ii) Obstruction class =1

a0 =

(iii) Cusp Shapes = —2u® — 7Tu? — Tu — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

‘@ ut =2+ u+1

Ca2,C8 ut+ud -1

c3, Cy wtu—1
€4 ut 4w + 4 +u+1
& ut —ud — 1
6 ut =2 —u+1
7 ut —u—1
C10 ut —4ud +6u? —5u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cq yt —4y® +69% — by + 1
C2,C5,C8 vt -yt -2 41
c3,07,Co y' =207 —y+1
€4 yt —8y® +10y2 + Ty + 1
10 yt— 4y — 2% — 13y +1




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape
u = —0.219447 + 0.9144741
a= 0.02868 + 1.948461 3.04135 + 1.962741 | —4.02709 — 2.326561

b= 1.007550 — 0.5131161
uw = —0.219447 — 0.9144741

a= 0.02868 — 1.948461 3.04135 — 1.962741 | —4.02709 + 2.326561
b= 1.007550 + 0.5131161

u= 0.819173

a = —0.401572 —8.36260 —21.5310

b= —1.49022

u = —1.38028

a = —0.655786 —4.29983 —8.41490

b= —0.524889




ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (u* —2u® +u+1)(u® — 6u® + 16u* — 21u® + 11u? + 2u — 4)

o, C8 (u* +u® = 1)(u® — 2u° + 8u +u® + Tu? —u —1)

cs3, Cg (u +u — 1) (ub + u® + 9u? — 110 — 40u? — 2u — 1)
¢4 (u* 4 4u® + 4u® + u + 1) (u® — 3u® — 3u® 4 15u® — 10u? + 1)
¢ (u* —u® = 1)(u® — 2u® + 8u* + v + Tu? —u —1)
Co (u* —2u? —u + 1)(u® — 6u® + 16u* — 210> 4 11u? + 2u — 4)
7 (u —u —1)(ub + u® + 9u? — 11u® — 4u* — 2u — 1)
€10 (u* — 4u® 4 6u® — 5u + 1) (u® 4+ 4u® + - - - + 92u + 16)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
4 3 2 6 5
c1, ¢ (y" —4y” +6y° — 5y +1)(y° —4y” +--- — 92y + 16)
2,05, Cs (y* — % — 20 + 1) (y° + 129° + 82y* 4 105¢° + 35y — 15y + 1)
€3,C7,Co (y* —2y% —y + 1)(y + 17y° + 95y* — 1919° — 469> + 4y + 1)
€4 (y* =8y +10y* + 7y + 1)(y° — 15y° +--- — 20y + 1)
4 3 2
c10 (' =4y’ —2y" — 13y + 1)

- (y® + 3635 + 246y* — 2029y> — 6671y* — 6000y + 256)
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